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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you understand by business communication ? 

Discuss its different models. 

O;kolkf;d lapkj ls vkidk D;k vfHkizk; gS \ lapkj ds 

fofHkUu ekWMyksa dk o.kZu dhft,A 

2. What do you mean by group discussion ? Discuss the 

prerequisites and advantages of a group discussion. 

lkewfgd fopkj&foe’kZ ls D;k vfHkizk; gS \ lkewfgd 

fopkj&foe’kZ dh iwoZ ‘krks± rFkk ykHkksa dk o.kZu dhft,A 

3. What is meant by a formal report ? Discuss the 

planning of a formal report. 

vkSipkfjd fjiksVZ ls D;k vfHkizk; gS \ ,d vkSipkfjd fjiksVZ 

dh ;kstuk dk o.kZu dhft,A 

4. What is meant by Body Language ? Discuss the types 

and significance of Body Language. 

‘kkjhfjd Hkk”kk dk D;k vFkZ gS \ ‘kkjhfjd Hkk”kk ds izdkj ,oa 

egRo ij izdk’k Mkfy,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. SWOT analysis. 

LokWV fo’ys”k.kA 

2. Qualities of a good resume. 

,d vPNs vkRelkj ds xq.kA 

3. Write a short note on culture. 

laLd`fr ij ,d laf{kIr fVIi.kh fyf[k,A 

4. Video-conferencing. 

ohfM;ks&dkWUÝsaflaxA 

5. Mock interview. 

cukoVh lk{kkRdkjA 

6. Elements of effective listening. 

izHkkoh Jo.krk ds rRoA 

7. What is monologue presentation ? 

,dy izLrqfr D;k gS \ 

8. Explain semantic barriers. 

‘kCnkFkZ dh ck/kkvksa dh O;k[;k dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

1. Business communication is : 

(a) One-way process 

(b) Two-way process 

(c) Three-way process 

(d) None of the above 

O;kolkf;d lEizs”k.k fuEu esa ls D;k gS \ 

¼v½ ,drjQk izfØ;k 

¼c½ nksrjQk izfØ;k 

¼l½ rhurjQk izfØ;k 

¼n½ mi;qZDr esa ls dksbZ ugha 

2. In SWOT, T stands for : 

(a) Technique 

(b) Transfer 

(c) Threats 

(d) None of these 

SWOT fo’ys”k.k esa] T dk vk’k; gS % 

¼v½ rduhd 

¼c½ LFkkukUrj.k 

¼l½ pqukSfr;k¡ 

¼n½ buesa ls dksbZ ugha 
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3. The ........... business is called layout. 

(a) Body 

(b) Content 

(c) Pattern 

(d) All of the above 

O;kolkf;d i= ds 
----------------------------

 dks ysvkmV dgk tkrk  

gSA 

¼v½ eq[; Hkkx 

¼c½ lkexzh 

¼l½ Lo:i 

¼n½ mi;qZDr lHkh 

4. ............... of the letter consists of main message. 

(a) Heading 

(b) Body 

(c) Greeting 

(d) Closing 

----------------------------
 esa i= dk eq[; lfUugr gksrk gSA 

¼v½ ‘kh”kZd 

¼c½ eq[; Hkkx 

¼l½ vfHkoknu 

¼n½ lekiu 
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5. Long report is : 

(a) Formal 

(b) Informal 

(c) Official 

(d) Semi-official 

nh?kZ izfrosnu gksrk gS % 

¼v½ vkSipkfjd 

¼c½ vukSipkfjd 

¼l½ ljdkjh 

¼n½ v)Z&ljdkjh 

6. Communist communication theory propounded in : 

(a) 1917 

(b) 1950 

(c) 1916 

(d) 1949 

dEI;wfuLV lEizs”k.k fl)kUr dk izfriknu gqvk % 

¼v½ 1917 

¼c½ 1950 

¼l½ 1916 

¼n½ 1949 

7. Which of the following is not a form of a grapevine ? 

(a) Single stand 

(b) Gossip 

(c) Cluster 

(d) Feedback 
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fuEufyf[kr esa ls dkSu&lk viq”V lEizs”k.k ugha gS \ 

¼v½ ,dy vk/kkj 

¼c½ xi’ki 

¼l½ xqPN 

¼n½ izfriqf”V 

8. Communication is the task of imparting .............. . 

(a) Training 

(b) Information 

(c) Knowledge 

(d) Message 

lapkj 
----------------------------

 iznku djus dk dk;Z djrk gSA 

¼v½ izf’k{k.k 

¼c½ lwpuk 

¼l½ Kku 

¼n½ lans’k 

9. Body of a letter is divided into .............. parts. 

(a) 1 

(b) 2 

(c) 3 

(d) 4 

,d i= dk eq[; Hkkx 
----------------------------

 Hkkxksa esa foHkkftr gksrk gSA 

¼v½ 1 

¼c½ 2 

¼l½ 3 

¼n½ 4 
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10. Parts of a business letter are : 

(a) 12 

(b) 16 

(c) 20 

(d) 24 

O;kolkf;d i= ds vax fuEu esa ls fdrus gksrs gSa \ 

¼v½ 12 

¼c½ 16 

¼l½ 20 

¼n½ 24 
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